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Min. h = 150/10 = 15 cm

USE h = 15 cm

DL = 0.15×2,400 = 360 kg/m2

LL = 200 kg/m2

wu = 1.4×360 + 1.7×200

= 844 kg/m2



Mu = 844 × 1.52 / 2 = 949.5 kg-m (per 1 m width)

USE DB10 with 2 cm covering: d = 15-2-0.5 = 12.5 cm

< ρρρρmin = 0.0035 Use ρρρρmin
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0.85 f 2R
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f 0.85 f

 ′
ρ = − − ′ 

=  0.0017

Required As = ρbd = 0.0035 × 100 × 12.5 = 4.38 cm2/m

DB10 : As = 0.785 cm2 → s = 0.785×100/4.38 = 17.9 cm

Use DB10@0.17 : As = 0.785×100/17 = 4.62 cm2/m >  Required As OK

Use DB10@0.20 : As = 0.785×100/29 = 2.71 cm2/m

Temp. steel = 0.0018×100×15 = 2.70 cm2/m
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